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ainst adverse movements in asset pric.

es can be used to hedge ag nas
utures ments. However, these derivatives dg,

Forwards and f =
ncial instru

This is the major advantage of these fina : .
give chance to get the benefits that may accrue due to favourable movements in asset prics,
The reason for this is that the firm is under obligation to buy or sell assets at predetermins

rates. fhis limitation of forwards and futures has led to the emergence of 0pt|on5j

Meaning of Options
m. This choice or freedom may ormz

The word option simply refers to choice or freedo ay
ans right without obligation. |An optic

not be used depending upon the situation. Option me WIthe
is a contract that gives the holder (owner) the right, but not the obligation, to buy or sellz

underlying asset at a specified price on or within a specified date in future.

Thus, option is a special type of contract which gives its holder the right, but not tr
obligation, to buy or sell an asset at a fixed price at some future date. For example, one pers
buys an option contract to purchase 100 shares of SBI at ¥ 250 per share within a period o'
months. It means that the said person has the right to purchase the shares of SBT at 3 2507
share_ within 3 months from the date of the contract. If the share price increases, he"
.exercnse the option. This is because he can buy shares at ¥ 250 e : though the'pricef
mcreas-ed. If the share price falls below Y 250, then he will not e .ven oug. (he has®
ob}nggtnon to buy). This is because he has to pay % 250 for one :Eruse the optlcl)qn i
price is fallen. Thu.s,- it is clear that an option is the right but share evep tthug & ot
something at specified date at a stated price. |t means th 4+ not the obligation 1o buy- i
option when he is in profit. In case of loss. 1o o ns that the option buygr will exercise
Features of Options ' not exercise the option.j

The important features of optiong are as follows -

. Itisacontractual agreement that gives
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There are two parties to gn option conty
the right. Second is writer (seller)
YEUCT) Who sells the o
: *EHSAhe right \ 50 4
The seller of option sells the right to chog Bht (to buy or sell) to the buyer,
) . ' > . 50
premium. Hence option jg SOMewhat simij|

The buyer of option May exercise his rj ht
his right only when it js beneficial forghi
exercise the option. He shall let the optio
It becomes a gain to the se|ler.

€. One is buyer (investor or owner) who buys

to the buyer in return for a payment called
artoinsurance.

Or may not exercise his right. He will exercise
m by doing so. If it is beneficial, he shall not
N expired. Then he will lose the premium paid.

‘There are two types of option— ca|| option and put option

The buyer of.opt|on should exercise his right at any time during the period of contract,
i.e., at any time between the signing of the contract and the expiry date (American
style). This intervening period is called expiration period. If the buyer does not exercise
the option within the specified period, the option gets expired.

The specified or agreed price at which the owner is allowed to buy/sell the specified
asset is called exercise or strike price. It is the price at which the option (right) is exercised.
Itis based on the current quoted prices.

Parties to Option Contracts

) 5

Purchaser (Investor): He is the person who buys the option. He is the owner of the
option. He has the right to exercise the option. But he has no obligation to exercise the
option. It means that he may exercise the option or may not exercise the option. He

takes the long position. :
Writer (Seller): He is the person who sells the option. When buyer exercises the right,

the writer has the obligation to perform. Therefore, he has high risk. He takes the short

position.

Important Terms (Option Terminology)

L

ike price): The price specified in the option contract is called exercise
owner can buy (or sell) the asset.

t at the time of exercising the option is

Exercise price (Str | e
or striie price. It is the fixed price at which the

Spot price : The current market price of the asse

called spot price. : :
PP d on the price of some assets that is not traded in the

Un ing : Every option is base _ . ;
Optci.s;hrlr:r;?kei Th»;s :sset is called underlying asset or simply underlying.

i i ise the option or
f the option has the right to exercise t
ium : aser or ownero ) b S :
Premlu.m..The pl;'rc‘hI e will exercise the option. If it is not beneficial, he will not
not. If it is ben? |c1aH'e has no obligation to exercise the option. The seller has no such
exercise the option.
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f an option gets greater benef‘ ';
n contract, only ifthe‘buye.r Compematest#’ |
ncur. The seller is taking the risk of r'e :
hould pay anamount at the timetl? ]
he option buyer needs to payt, the

as option premium. Thus, premium is'the amount whig |
the form of a return for guaranteeing the exercise M
the option, he will lose the premium pajq The |
time of signing the contract. The option Premiyy,

gation. Thus, the puyer O

optio .
ller would |

meet his obli
would enterintoan
s that the sé
demands that the buyers

o. This amount thatt

right. He must
Hence, the seller
seller for the potential [0S
change. Hence, the seller
option contract is entered int
option writer (seller) is known

the seller charges the buyer in

he buyer does not exercise
i.e., atthe

option. If t
premium is to be paid initially,

is the option price. _ .
5. Exercise date: The date on which the option is actually exercised by the buyeris know |

as exercise date. :
e: The date on which the option expires is known as expiration date | |

s to be exercised. In short, itisth |
turity. On expiration date ':

e i —

6. Expiration dat
other words, it is the last day by which the option ha
final settlement day. It is also known as expiration date or ma

either the option is exercised or it expires worthless.
For example, on 23rd November 2019, Roopa enters into call option contract with Reejs
for buying 1,000 shares of Infosis after one month at ¥ 800 per share by paying a premium of? :
15 per share to Reeja.
In thfe above example, Roopa is the option buyer (owner or investor), Reeja is the option
s:ller (wr(ujte;), 1,000 shares of Infosis become the underlying asset, ¥ 800 is the strike price
the period of contract one month is the expiration peri ’ '
: period, and t
2019is the expiration date. ICiasr Tharstay fDeciEs

Option from the Point of View of Seller/Writer

s v

For the writer/seller profit is limi :
ited to the premi ol |
loss. Practically, he is in a di . lum. However, he has to bear unlimited |
¥, he is ina disadvantageous position. If his calculatign'or anticipation is corred
atio

he can come out of the disadva

can ntageous position, T g

obligation to buy/sell, when the buyer exercises 'hi:Gca)sf'”er hesnachoice, He il ncif
ption.

Need for Options (Advantages of Options)

portfolio. It can also be used
for 8enerating aqdit: '_lt €an be used for protecting Stod 4

for option arises from the following advant;
ges :




otion

with less capital, one can trade 3 large
The buyer can limit the loss, whlle he ¢

EANE R

Futures

Options

1. Boththe parties are obliged to perform thel 1
contract (buy or sell the underlying asset).

2. Marginis the basis of the contract.
3. Both buyers and sellers face the
possibility of unlimited gain or loss.

| 4 These are preferential contracts for the
- speculators to maximise profit.

5. Ithas to be honoured by both the

| parties only on the specified date.

- Only the seller (writer) is obliged to perform
the contract.

- Option premium is the basis of the contract.
Buyers have the possibility of unlimited profit
but their losses are limited. Sellers have the
possibility of limited profit. But their losses
are unlimited.

These are preferential contracts for the
hedgers to minimise risk.

It can be exercised by the buyer at any time
during the life of the contract or optlon

period.
Difference between Forwards and Options
—_— Forwards Options
L. Both buyer and seller have 1. Only the seller has an obligation (buyer had

obligations.
L Customised contract. ! -
3 Nottraded jn stock exchanges.

There is no premium and margin.

> Expiry date depends upon the

option but not an obligation).

2. Standardised contract.
3. Traded in stock exchanges.
4. The buyer pays premium to the seller, while the

seller deposits margin initially with subsequent
deposits made depending on the market.

American options can be exercised at any
time during the life of the contract.

~ransactions.

Uassification of Options (Types of Option Contracts)
Classification on the basis of right : On the basis of right, options may be classified into

“loptions and put options.
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:7ation) to buy the undey :
t the obliga erlyin |
ht (but N0 ocified date. In short, the OptiOn:(g) :
rising market, i.e., when the prices,
ise price, OWNers (purchasers) of ar b

e assetatthe strike price (strike price |
hasmfmewhat similar to that used by purchasers o b
SS

1. CallOption -
the rig
Itis an option thatgivesa purchaser

i ice on
asset from the writer at the specifiec.l exercise prlsl g
buy the underlying asset is a call opflOn-
rising. If the spot rate of the asset rises @
options shall exercise their option by purc

be cheaper than the spot rate). This stratcegyl " 1 the option does not.
futures, but futures requires an obligation whic

oose to exercise the opt;

In short, under favourable circumstances, the buyer ml?YI;:ZIOW the exereise pl’iceF))tltohnl
Under unfav;)urabie circumstances (when the spot rlatteﬂiz Zption expife S exerc’isin:
i i hoose to 1€ ; £
buyer shall not exercise the option. Hecanc ' oc no compensation]
it. If the option expires without being exercised, the PUYEF. récfilqvemaximunﬁ arrouds t:rtthe
premium paid, i.e., he loses the premium initially paid. This 1S . ) athe
- ositi ' < similar to that of a buyer of insurance (general)

loses. Thus the position of an option buyeris simila

while the position of an option writer is similar to that of a seller of insurance.

Example of a Call Option
price of share today is¥100. An investor expects a price rise, say 140 afterone

Suppose
h has a price, sayI8 (ie,

month. Instead of buying share, an investor buys a call option, whic
option premium).

In this case, instead of investing T 100, the investor invests only X 8 (premium) by buying
the right to buy the share.

Suppose the price increases to X 140 after one month. Now the spot price is T 140 and the
exercise price is ¥ 100. Thus the spot price is greater than the strike price (favourable movement
because he needs to give only the exercise price, i.e., ¥ 100). He has locked in the price T 100.
But,'the. spot price (market price) is ¥ 140. Hence he will exercise his option. Then investor’s
profit willbe T 32 (i.e., 140100~ 8 = 32). His cost comes to3 108 (i i : i d
the market price is ¥ 140. Hence his profit comes to ¥ 3 lincluding the premiugy
8 x 100 = 400%). His investment is only % g iy 2.The percentage of profit will be 32/
percentage of profit on investment is 400%. If the i bl-Jt 0 makes a profit of T 32. So the

EXercise price is higher than the market

price, he would not exercise his opti '
price, ption. He will lose t i -
is limited to premium). Seller’s gain will be ¥ 8 e il His loss will be X 8 1.6,/ g

If the investor buys the share (i o
) Instead of ing i :
be X 40 (market price ¥ 140 less cost price ¥ 100‘3)”;e.r|.ng Into an option contact), his profit will
-His i ’

profit on investment is only 40%, i.e., 40/100. vestment is ¥ 100.So the percentage‘J

If the spot or market price i
exercise his right. This is bpecau;Zl::,s hanthe eXercise price (say ¥ ' d ndt
price (X 80) than the exercise price (?e buver can buy the sha YR 80), the buyer wog s
100). He will oge thq p ¢ on the open market for Iehe,
remiumz g (loss). This means '™




I : e
Se-mited to the premium paid if the right i oy &

iq ’ . . d i_ . .
jon s exercised (i.e., limited loss but unlimit

put Option '

It is an option that gives 3 purchaser
derlying asset to the writer at 3 specified pr
e option to sell the underlying asset. The
he asset ifand only if the spo
o strike price on or before t

Xercised). However, he can gain more, if the
ed profit).

ice (strike price) on a specified date. In short, it
t price (pr buyer of put option will exercise his right to sell
price of the underlying asset in the market) is less than
th _ h(.e eXpiry date of the contract. This is because the buyer can buy
the underlying asset at spot price (which is less) and immediately sell it at strike price (which
shigher ) by CACISBIRG the put option (no actual buying and selling, instead, price difference
s settled) if the-PFICG of the underlying asset (spot price) is higher than the strike price, he
Jill never exercise the option. Then his loss is limited to the option premium paid (i.e., the
loss is limited). Nodt ko ,
example of a Put Option > ot

\

Suppose share price today is ¥ 200. An investor who expects a fall in price in future, buys
put option (i.e., buying a right to sell shares at ¥ 200 within a period, say, 3 months) for a
premium, say, X 20. Suppose after two months, price has fallen to ¥ 140.

Inthe above example, the buyer will exercise his option, i.e., sell the share at ¥ 200. The
exercise price was ¥ 200. The market price (spot price) is T 140. Hence his profit will be X 40
(e, 200—140~-20). Here the actual transaction (i.e., buying the share at ¥ 140 and selling the
| same at T 200) does not take place. It is closed with the difference. This is the feature of
| derivatives. The investor’s percentage of profit would be 200% (i.e., 40/20 x 100).

Suppose the spot price is ¥ 240 (instead of % 140), he shall not exercise his option. Itis so
| because, if he exercises his option (i.e., selling the shares at %200, for which the spot price is
' 240) he shall incur a loss of ¥ 60, i.e., (240 - 200) + 20. If he does not exercise his option, he
' would not get back the premium paid. Even though the spot or market price is ¥ 240, he can

| sell only at exercise price ¥ 200. In this way his total loss will be X 60. Hence in this situation,
oes not exercise the option, he will lose only ¥ 20

he will not exercise the option. If he d
(Dremium). Otherwise he would lose X 60
the call option and put option are shown below :

Seller of the right
Obligation to sell at the specified pfice

Conceptually,

Tpe | Buyer of the right
Call Right to buy at the specified price

ﬂi\_Right to sell at the specified price

Classification on the basis of style of
“ercised, options are classified into the foll

Obligation to buy at the specified price

exercise : Depending on when an option can be
owing three categories :

the right (but not the obligation) to sell the *
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exercised, only on the :
q at can be - Eypi 1
nsth Piry §

ptions : t used.
0 . .
anop canbe exercised, at any time du

i that ca \
re options d the expiration ;
(chase date an p date), n

d on any day on or before the expiwd%
ence, it involves higher premiym,

rcisedona few specific dates Priory, _».
e Bermuda is half y, §

European Option: Furopeano
date (maturity). In India, Europe

American Option: American option® g

: . tween pu
' ¥ l-e-l any tlme be .
the option period ( can be exercise

other words, American options e H
g ity.

Thus, American option involves extra erXIbz Yxe
i ee

Bermudan Option: A Bermudan option can n perhaps becaus

expiration. The name ‘Bermuda’ was chose

between America and Europe.

: ed on the u ey
Classification on the basis of nature of underlying assets : Bas nderlyin, |

Commodity option : Here the underlyingis co
farmers to trade on price movements of gener .
commodities will reflect the worth of commodity optio

options are not available.

Currency option : Itis a contract that
specified price at some future date. Itactsas a vehic

rate fluctuations.
stock option : Here the underlying asset is individual stocks of corporates. The stock '

option requires the actual delivery of stock upon exercise.

11 commodities. The price movementof |
n. In India, as of now, commodit

onfers the right to buy or sell foreign currencyata |
le to protect against adverse exchange |

Buyer / Seller

/N
Stock Option

3
N
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Stock Option Process (Fig. 1)
Stock index option : Stock index optionen ‘
movements. The stock price movement
index option, the transactions are sett

“::J'lesfinve§tors to trade in general stock market
e Le lect in stock index option prices. In stoc
Y Payment of cash. The amount of €&




tracts.
e, Othertypes of options : There are some other types of options. They are:

1. Realoption: Itis a choice thatan investor has when investing in the real economy (i.e.,

inthe production of goods or services, rather than in financial contracts)

Vanilla and exotic option: A vanilla option is a ‘simple’ or well understood option. But
exotic options are more complex or less understood. European options and American
options on stock and bonds are generally considered to be ‘plain vanilla’. Asian options,
look back options, barrier options (hybrid options) are exotic.

3. Warrants: These are long dated options. These are generally traded over the counter.

4 LEAPS: LEAPS means Long term Equity Anticipation Securities. These are options having
a maturity of upto three years.

5. Baskets: These are options on portfolios of underlying assets. The underlying asset is usually
amoving average of a basket of assets. Equity index options are a form of basket options.

Moneyness of the Option

Moneyness refers to the potential profit or loss from the exercise of an option. Atany
time before the expiration, an option may be in-the-money, at-the-money or out-of-the- money.

L In-The-Money (ITM) option : A call option ha's value only if the‘spot or casrf price (r_narket
Price of the underlying asset) exceeds its strike price. The.n the option buyer wn?l exercise the
Otion and make profit. Such a call option is s'aid to be in-the-money. Thus, m-th-e-.money
option is an option that would lead to a poSiFIV.e cash flow to.the holder (puyer) _|f it were
®ercised immediately. In short, a call option Is m'.the-money, 3 the spot price (S? 's greater
than the strike price (K) (i.e., if $> K). A putoptionis in-the-money if the spot price is less than

. *irike price. d ted, options willnot b ised if they

3 option : As already stated, options e exercised i

ave?]Ut-of-The-Money.(OTlrr)e spaid to be ‘out-of-the money options. An out-of-the- money

OptionOisvalue. f'UChtgpF:r:uld ead 10 @ negative cash flow if it were exercised immediately.
an option tha

if the spot price (market price) is less than the strike
U5, a call option is out-of-the-money if




f-the-money when the strike price jg o
e underlying asset.
the strike price are the Samg

ut-o
ot price) of th
e and

price of the underlying asset. A put option 50
the spot price (or spot price is greater than sp

. ric X1
3. At-The-Money (ATM) option : Ifth¢ spm;:mon Thus, an at-the-money optigy . * §
option, whether call or put, is m'the-monf}yn were Cxercised immediately. In ShOn Y ‘

option that would lead to zero cashflow ike price i v |
* Lo at-the-money, when Strike p > €qual toy, |

option (whether call or put) is said to be
spot price of the asset.
» above may be summarised as below:
The above may be su Put option

ion
Market Scenario Call optio i~
In the money Outof t € Money
In the money

Market Price > Strike price

Market Price < Strike price Out of the money \
3 ) Atthem

Market price = Strike price At the money oney

Moneyness in Options (Fig. 2 )

Example 1
The stock price of Akash Ltd. in spot market is T 450 and two-month option contractiscf

1450. The price of the option is X 20 per share. At what price the option will be at-the-money

out-of-money and in-the-money if the option is both call as well as put option ?

Solution
Option strike price . 2450 per share
Premium (price) . X220 per share
Call Option
(i) At-the-money : 450+20=%470 per share
(ii) In-the-money : Price greater than 2 470 per share
(ili) Out-of-money : Price less than ? 470 per share
Put option
(i) At-the-money : 450-20=2430pershare
(i) In-the-money . Price less than ¥ 43¢ Per share

(ili) Out-of-money : Price above ? 43¢ per share
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dtionsin the Options Contract
pos

There are four types of option Positions, T}

LONE p05|t|9n ina call option : A PErson who buys
ina call option. He purchases the right, but noﬁ? c
31 e

the stated exercise price at any time before the opt

Long position in a put option : A percar
# osition in a put option. He by DQSOH Wk Al Serllh b it

D - ys the rlghp but not the obligation, to sell the underlying
any time before the option expires.

erson who sells a call option is said to have a short
ort sell the underlyin i i i

_ . g asset (selling without owning
the asset) or sell a call option. He sells the right to buy the asset. He has the obligation to

sell the underlYlng assc_zt at the stated exercise price when the buyer exercises his option
before the option expires. In brief, short means sell.

€y are briefly explained as below :

alloption is said to have a long position
obligation, to buy underlying asset at
lon expires. In short, long means buy.

asset at the stated exercise price at

3, Short position in a call option : A p
position in a call option. He can sh

4 Sho'rt. po§|t|on e PUt option : A person who sells a put option is said to have a short
position In a put option. He sells the right to sell the asset at a fixed (exercise or strike)
price. He has the obligation to buy the underlying asset at the stated exercise price.

The four types of option positions are shown below :

Option Buyer Seller
Call Right to buy Obligation to sell
Put Right to sell Obligation to buy

Risk and Return Profile of Option Contracts (Pay-off in Options)

As stated earlier, option buyer has a right but not obligation ina contract. He will exercise
this right only when he is likely to be benefited by doing so. For example, if he h.olds a call
option on a particular stock he will exercise his option _0”|V when th_e market price of that
stock is higher than the strike price so that he gets profits from the dnfffarence be‘tweer'm th'e
market price and the strike price. The difference between the market price and strike ;.3r'|ce is
known as pay-off. A pay-off is the likely profit or Ios:s that wou.ld accrue to a market participant
with change in the price of the underlying asset. Itis the pro_ﬁts as wgll as Iossgs for t.he. buyer
and seller of futures or option contracts. The profit potential of option puy.erlls unlimited as
there is no cap on the market or spot price. If, r.lowe_ver, the mar'kf.et prnc:a |sh9wer thsn thg
strike price, option buyer will let his option eXpire wﬂhoutfgxercusur:g ;t. nt Ifo case, |' e'WILI
lose 5 limited amount of the option premium. Thus, thg pro |t%otenh|a (psy-o ) |i un |m“|te
id the |oss is limited. The maximum loss is the premium palI to/t e c;}:; |<;n wri e_r (se Ieler).
COnversely as the profit or loss of an option b_uyer reflects the O.SSI 5:50 Eovanpption se tﬁg
the seller c’arries an unlimited risk with a Iimlted‘ return potentia -f‘l maxm';;,lm gfé"lm 'Sf :
Premium received from option buyer. Thus the risk and returhn protiie (tp'a\l/)-otte?:)n!d:)rsotozd
*Plion contract is asymmetric unlike that of futures contract. The concept is be

“ith the help of an example.
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tioni
i Hencéthe i e that M. X has charged MF-YM
00 (cash prlce). Assum X

: ight.
 this option / 118 .
chasmgthe _ash or spot price of the stock at t'"‘et(i.e

incurt

Assume that Mr. X gives Sty

¥ 5,000 (strike price) for settl
any time during the life of the con
market price of stocks is also 35,0
(option premium) as the price for pur

Mr. Y will not exercise his option as l
St) is less than X 5,000. This is because by :
He may decide to exercise his option any time
the stock is above ¥ 5,000. However, if the ma
5,400 when he decides to exercise his option, h
between ¥ 5,400 (strike price + option premium

ong as
doingso he will
during the
rket price of th :
e will incur a loss equl

and the
) $%5,300, his loss will be 100 (5,300- 5,

e stock is between < 5,000 angy

Forinstance, if market price of the stock at that time Ifrom e leof thasharels 25 300, ol
is the price where the gainj; |
tion price). If the markg |
Il make a profit. Forinstance, i

- 400) because his total outflow is X 5,400 and inflow :
break even at the stock market price of X 5,400. Break even price

just equal to the option premium (break even price = stock price +o0p

price is above ¥ 5,400 at the time of exercise of the option, he wi
the market price at that time is T 5,450, Mr. Y will make a profit of ¥ 50 (5,450 - 5,000 - 400).

The pay-off profiles of the buyer and seller of such a call option are shown in Figures§ :

and 6 respectively.
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he loss equivalentto3 5000.&" :
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valent to the differey, |
prevailing market price of the stoy |

3

£ Profit unlimited
)
> >
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o O
5 5
v oS
§ = : Profit Zone
; % {sset Price —,
S e
g 5400 (Break even price)
-400
Loss limited
Loss Zone

Pay-off Profile of g Cqlf Option By
Potential Profit : Unlimited as the underlying stoc

Potential Loss : Limited to premium paid for ca]|

o ———
ver (Fig. 5)
k price increases.

opti
Thus we can say that a cal| T
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is the mirrori
optic” selle:hl;n st ":;’de tl)f that of a call option buyer, he will make profit only if stock
ceis 1% price plus the option premium. In other words, he will lose money if

price e underlying asset ri ,
price okl YIng asset rises above the strike/exercise price plus the option premium.

400 | Profit limited
Profit Zonc
g
18 5400 (Break even price)
823 0
S § 5000 —
7= Asset Price
Q&
- Q
= 5
3=
c 2 Loss unlimited
A
Loss - Loss Zone
Pay-off Profile of a Call Option Seller
Fig. 6

potential Profit : Limited to premium received from call’s initial sale.

. potential Loss : Unlimited as the underlying asset price increases.

Similarly in case of a put option (option to sell) if Mr. A buys a put option on the same stock
witha strike price of ¥ 5,000 at a premium of T400 he will make profit only if the price of the stock
. goes below ¥ 4,600 (strike price - option premium) at the maturity or time of exercise of the
option. On the other hand, a put option seller will lose money if the stock price is below X 4,600.
| The pay-off profiles for a put option buyer and seller are shown in Figures 3 and 4 respectively.

Profit + Profit substantial
v Profit Zone
4 &;‘ 4,600 (Break even price)
a 2 e
c § Asset Price —
oS80
[7,]
S &
~N O
£ S — Loss
1! § Loss Limited
6.- e
Loss Zone
Loss -

pay-off Profile of a Put Option Buyer
Fig.7
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otential profit : Substantial and increases as the underly

otential Lo ‘m mi id for put

Potential Loss : Limited to premium paid for

) :
Q{\OJ Profit Zone
A0 "
o“o Profit Limited
&
& 5000

N yd

—~
L

Asset Price —

Profit/ Loss or pay-off
to the option seller

Loss substantial Loss Zone

Pay- off Profile of a Put Option Seller
Fig. 8
Potential Profit : Limited to premium received
Potential Loss : Substantial and increases as the underlying stock price decreases.
Note : The pay off diagrams shown in Fig. 5 and Fig. 6 are mirror images of each other, Th

reason is that profit or loss of the cal| option buyer is equal to the loss or profit of thecil |

Zero-sum game.
Margining in Options




‘},{“W\
e 129

qape firm, price of the unde di
Wt‘:;! (In a put. As ageneral ml:-r:::‘i'l'iu ld L the price of the option and whether the option
jga ¢ TRIANIArging are at )eant 301
! | ] [ ' ’ : ¢ ALt 3 ot f',' A2 4 4 ',h‘f
- ption s written, plus the intrinsic value of the A 17 of the stock price when
1 ) . ;l
f he creditrisk of the exchanpe ¢ )
. k("l (MTM) and losse: CO““(T“'Z' ""i" i;‘- climinated jf positions of the seller are marked to
| arke 2508 SLLea, as e« (""‘Eflf;l"'()f fi . . i
) . = I Cars itures, In case of futures IMTIA losses
. t(\d e pn‘)t‘(.'d a5 MIM ) - ¢ I o '
co”‘-iw”‘(‘clpd eorniealls /l' rofits, This too could be followed in case of options where T
N . - ] - ) SOTS Arey e e
| losg;_m‘d shaadilan ol UOA ersare passed on to option buyers [ painers, If such a practice
- jsac |Ojl bé r’ubjcct gt p Oln buy(:rs Loo would need to be marked to market and they too
would be s argin call. Such a practice is called futures style options, where both
puyers and sellers are marked to markot,

preak Even Positions of Option Parties

Abreak even position of option party is that level of market price of the underlying asset,
L at which the party (buyer / seller) has no-profit no-loss position,

' fundamental Option Strategies

| 74

| We ha.ve understood the basics of options. Now let us understand the fundamental and
. simple option strategies. The following are the elementary strategics:

. 1. Longcall
2. Short call
3. Llongput
4. Short put

, The above are the basic elementary (or fundamental) strategies. These are known as the
building blocks of option strategies. These are the four major arms of an option contract.

These may be briefly discussed as follows:

' Llong Call (Buy Call)
Along call is simply the purchase of one call option. A call option buyer has the right to
' buy the stock (underlying) at the strike price until the expiration date. An investor will buy a
@ll option with the expectation of a price rise (so, itis a bullish strategy). He believes that a
' stock's price will increase. Hence he buys the right to purchase the stock (a call option) rather
' thanjyst buying the stock. He has no obligation to buy the stock. He has only the right to do so
| Until the expiry date. If the stock price increases over the strike or exercise price by more than

' the premium paid he will make profit. If the stock price decreases, he will let the contract
ount of the premium paid. A trader may buy the option

investment is needed ). This is because for the same
number of options than shares. If the stock price rises,

; fzxp;re worthless, and lose onlytheam
- Nstead of shares (to buy shares, more

' #Mount of money he can obtain a larger
"e Wil thys get a larger gain thanif he had purchased shares.
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ose on the expectation thaty .
th, Mr.A buys @ call option to buy stock fq, th
montii, ‘

el onth the market pri., .

. ; s premium 4. Suppose W|th|n'0ne$e market price infrzce '
S;rlke prllc'e o 122})281%? TrF:en A will get a profit i Smf)ilv the strike price ¥ 10;568' ;'
ease : b
;eev\s/itlcltx:e':(c:i"se the option by buying the StOCI_(' HE h'a.? t; 55(1\1/07 -100-4). When the mar:': E
need not pay the market price ¥ 107. Hence his prOf-It . fit is unlimited. His profit becop, t l'
price increases more, he will get more profit. Thus his pro S

) X91. Then Ay |
ce of the stock falls to Wil
the loss of call option seller. Suppose the market pri the strike price ¥ 100 when t,, |

not exercise the option. Who will buy the stock by Pa‘:}’:”g he loses the premium paid s |
market price is ¥ 91. He will let the contract expire. T enh ice falls more).
Thus his loss is limited to the premium paid (even when the p

Break even point for long call position may be calculated by the following formula:

Example

Long call may be understood fro
market price will increase within oné

m an example. SUPP

BEP = Strike price of long call + Premium paid I
The profit or loss diagram of a long call option is given below : ,
Profit4
) |
104 (BEP)
\ g
T = ]
100, Stock Price
: at Expiration
|
<¥
Loss

Long Call Pay-off (Fig. 9)
_When to use the Long Call Strategy

-on call strategy is used when the trader expects that the market price will risé

significantly. This means that the investor s bulli
= L ish o . . ich on
market volatility (unlimited profit but limiteg loss) \n\mifﬁfffﬂrectlon and also bullish

2. Short Cali (Sell Call)
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,frfllons
vr

lieves that 2 stock lFl’”Ce ng deCr‘eaSE €an short sell the stock or instead sell call. Both
', (egies are gen?ra y considered INappropriate for small investors. The trader selling @
A asan obhgatnhon t: sell the sto-c'k to the call buyer at the buyer"s option. If the stock
ice Jecreases, the short C"f"! pOSI.tlon Will make a profit. If the stock price (underlying
" ce) 11seSs the Sh?rt call pOS't'IOF'I V\{lll Incur a loss. The loss is unlimited as the market price
:565, in the meantime, the gain is limited to the premium received for selling the option.

‘ all is a very ri iti C P
s the short y risky position. This is because the risk is unlimited.

’
(
2

pomple
suppose on the expectation that the market price of the stock will decrease within one

_onth, ML A sells a call option for a strike price of ¥ 100 and receives premium I 4. Suppose
jithinone month, the market price of the stock decreases to ¥ 90. Then A will get a profit.
s profit is T 4 (limited to premium received). This is because when the market price
secreases the call option buyer will not exercise his option and the option expire worthless.
yho will buy the stock by paying the strike price T 100 when the market price is ¥ 90 only.
Jsloss is limited to X 4, the premium paid. The buyer’s loss becomes the seller’s profit. If
e market price increases to X 106, the call option buyer will exercise the option. He will
wythe asset by paying the strike price ¥ 100 which is lower than the market price ¥ 106. This
-eans that the call'option seller has to sell the stock to buyer for ¥ 100 (the market price is
1106). A's loss is T 2 and not ¥ 6 because he received premium 34 (106 - 100 -4 = 2).

Inthe case of short call, the BEP is calculated as below :

BEP = Strike price + Premium
The profit or loss diagram of a short call option is given below :

/
/

(

Profit T }

A

Break Even

>

100 10 Stock Price

at Expiration

Loss

Short Call pay-off (Fig. 10)
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When to use the Short Call Strategy

FIIUies: -

n investor is bearish on market g,
d

"‘Hement P

St

ause a call option seller expects afa in |
< he will get profit (limited to premium)n {
et additional benefit. This s becyy

. 1§
r hand, when the market price INCreag

This fundamental strategy is adOpted_» V_thnc
and also bearish on market volatility. This .ls fc;ll
market price (bearish). When the market prlC'fT i
When the market price decreases more, he will no

: : othe
profitis limited to the premium received. On the

= §
: olatility. ’
r (bearish) v
more, his loss will increase. Hence, he expects a lowe (

By onElpi (Buy pat) : o believes that ;
Along put is simply the purchase of one put option. A trader wh a stock, |

i ice (strike price). He yj,
P i he stock at a fixed pric _ be |
price will decrease can buy the right to sell t _ il the expiry d i
under no obligation to sell the stock. But he has the right to do so until the expiry date_ Ifthe |

stock price decreases below the exercise price by more than the premium paid, he wjj Bet |
profit (strike price- underlying price- premium paid).
Example e

Suppose on the expectation that the stock price will decrease within one month, Mr, A
buys a put option for a strike price of 3 100, market price of the stock, decreases to ¥ 94 and the
Premium paidis X 4. Then the profit of the putoption buyerisX 2 (100 - 94 - 4). He can se|| the |
underlying asset at the strike price of ¥ 100 for which the underlying price is ¥ 94 only. Thushe |
gets a profit of T 6 from which the premium paid X 4 should be deducted. Suppose the stock
price (underlying or market price) decreases to X 96 (break even) there is no profit, no loss.|f |

Breakeven point in case of
long put option is calculated as i

below :
b

,_/B’reakeven point = Strike price
of long put - Premium paid

Thus, the profit potential
(upside potential) for the buyer is
unlimited (as the market price

. . A_”
decreases), while the downside risk StockPic2 |
(loss) is limited to the premium paid aBer |
(when the market price increases, s

the buyer will let the contract
expire). The profit or loss diagram
of along put option is given below:

Long pyt Pay-off (Fig. 11)
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yhento use the Long Pyt Stl‘ategy

This fundamental strategy is aqq

Pted whe .
. i n :
and bullish on market volatility, This is beca an investor s bearish on market direction

' i use :
market b Ur?dérlylng to decline (t 3 Put option buyer or holder expects the
ncrease (to make unlimited profit wh

rice increases more, i

to ¥ 107. Now A’s profit is T 4 (Premium received). When the market price increases, the
option buyer or holder will not exercise the option (let it expire). This is because he will get
only the strike price ¥ 100 (the market priceis ¥ 107). His loss is limited to the premium paid,
{4.Ifthe market price of the stock decreases to 2 93, A (option seller) will lose money ¥ 3 (100
-93-4). This is because the put option buyer or holder will exercise the option (sell the stock)
8etX100. The market price is only ¥ 93. Hence, his profit is T 3.

Thus the loss of the put writer (seller) is unlimited as the market price falls, while his gain
islimited to the premium received for selling the put option (when the market price increases
the put holder will not exercise the option ).

[ . .
l‘ In the case of short put, BEP is calculated as below :
:

BEP == Strike price of short put- Premium

~ Whento use the Short Put Strategy . - ol
This f tal strategy is used when an investor s bullish on market direction
I .
- and p S. Snedmenta latility. This is because a put option seller expects the market
~SHisiron meketvola . rofit). When the market price increases
profitis limited to the premium received.
his loss will increase. So he

b

QvJU 2 ™

= price of the underlying to increaseé (tO maks';)
- More, there is no additional benefit beca.used reases more,
Nthe other hand, when the market price dec

Shects 5 lower (bearish) volatility.
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ion is given below :

t opt
The profit or loss diagram of a short put oP

Profit 4

Break Even

N\

Stock Price
at Expiration

KG5S short Put Pay-off (Fig. 12)

Trading Strategies Involving Stock Options (Uses of Options)
s means that different strategies can be

Options open up a lot of possibilities. Thi .
formulated by using options. Each of these strategies has a different risk/reward (pay-of

profiles. Some are comparatively high-risk, like purchasing call and put options. Others are
meant to earn profit if specific expectations are met. Options can be used for speculation
also. Thus, option strategy means use of different combinations of options in order to hedge
against volatility of market and also to make profit.

(—C\hoosing the right option strategy is one of the most difficult decisions for an investor.
Some believe covered calls (call options where the call writer owns the asset) as the best
strategy because it reduces risk and in the meantime allows for a profit. Some others suggest
straddles because one can make money whether the market is going up or down. But the
unfortunate truth is that no single strategy works in all types of market.

All trading strategies involving options may be broadly classified into the following four:

(i) Hedginginvolves an attemptto control or manage risk by combining the purchase or sae
of an option with some position in the asset.

(ii) Speculation involves the purchase or sale of 3 : , .
: n option +ion in the
underlying asset. Ption without any position

(iii) Spreadingisacase when hedgingis done withi i
inthe : , eoUs
purchase and sale of option of same e option market, i.e., by simultan

perceptions on risk reward combinations
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Altematively, the aption strategies

i can b 0 4
gies and neutral strategies. e classified into bullish strategies, bearish

rat®
e Option Trading Strategies
gullish Strategies Beari:hl-StraT '
| 1078 call 1.Short cal Bles Natural Strategy
,short put 2. Long Put 1. Long Straddle
Gl gull Spread 3.Callg 2. Short Straddle
3 ear Spread 3. Long Strangle
outBull Spread 4 Putp . Long Strang
4 ear Spread 4. Short Strangle
. callBack Spread 5. Put Back S '
| Call pread 5. Butterfly Spread :
6. covered Ca
- Long Call Butterfl
1 protective Put
3 Short Call Butterfly
Long Put Butterfly
Short Put Butterfly
6. Time (Calender) Spread :
Call Time Spread
Put Time Spread
7. Condor :
Long Condor
Short Condor
Hedging with Options

' Theunique feature of hedging with options is that when combined with position in the
asset it protects the losses from the adverse movement while retaining the potential gain
fiom the farourable movement of price. The returns from the favourable side are reduced

only marginally by the amount of the premium paid. -
We consider hedging with options for long and short positions in an asset, which need

Potection against fall and rise in the prices respectively.
' Hedging Long Position in Stock - the Protective Put
buying shares (stock) and buying a put option for the

The protective put strategy involves .
the stock and the put option). In this strategy, the

*ime shares (i.e., a long position in both

Wing of put option protects the trader agains . S EREE
055 of the trader is limited to the premium paid but the profit potential is unlimited.

In protective put, if the asset price increases, the trader will not exercise the option. His
% Wil be limited t(; premium paid. In case the asset price falls he can exercise the put
Opt; i e price. So a protective put brings limited
I ONand sells the asset at a price equa ke p P P &

0sg :
but unlimited profit.

| to the stri
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Example

Suppose, aninvestor buys
price, he buys a put option for I8 (i.e. )
He will exercise the option only if the pric
price falls to ¥ 90, the investor will exercise' t
market price of the stock is T 90). His profit is T2
exercise the option. Then his loss will be limite

asharefo

e of the

r2100.T0 hedge a6
_he pays the pre
he option, i-€.

100-90-8).
d to the premium

es and Risk Ma"agem ;
e

. ivativ
| Deriva :
ancia nt

ainst the risk of loss from 3 fa"in‘
mium) for an exercise price'of? 100 (ATME' :
alls below the exercise price, Mi :
he will sell the stock for ¥ 100y |
In case of rise in price, he y; %; |
paid. Suppose the stock Drg

ption. If he exercises the option hjs i

3

share f

. ; 0
increases to ¥ 120. Definitely, he will not exercisé the

Il his stock to somebody f 0'?12; :

. 1 se
would be ¥ 28 (20 + 8). Since he has stock with him, necar f price rise, the long put prot
Then his profit will be ¥ 12 (120 - 100 - 8). Thus, in the event 0T P ' =)

: i is also knowna . §
him from loss. That is why, it is called a protective qu. P.rotECt'Ve pUtsls;;sat i3 lofig CSaSI:’nthegc
Jong call. It is called so because its risk / reward profile is the same @ 3

Protective Put Construction
Long 100 Shares
Buy 1 ATM Put

BEP
In the case of protective put, the BEP is calculated as below :

BEP = Purchase price of underlying + Premium paid
The profit or loss diagram of a Protective Put Option is given below :

Profit 4
. Long Put =0 SIqpk
e Protective
Break Even Put
: | &"‘
92 M 108 Stock Price
L ot o e . at Expiration
Loss

Protectiye Put Pay-off(Fig 13)
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o use the Protective Put Strategy

| | t strategy i
otective putstrategy is usy;
010 ually employed when the options trader is still bullish on a

| jealreadyowns, buthe is not syre about the ¢

1 ckhe Al : edirectj ' i

G167 o protect unrealised gajn. Bk ik lon of the price movement. It is used
previous purchase.

1 ';.z med
Il Option

5 edging Short Position in Stock with Ca

' NoW consider an opposite position with no a
q protection one needs on an asset thatis n
- Bl

| ..because he does not own, Y
09

ssetin possession. Many of us would wonder

o . future. Possibly one does

i ‘c . .

4 ideredas short position on
W

asset. For short positi ' ; :
= 0 on, t _
1. isunfaVOUTable- If price rise he price fall is favourable. But price

s, then owning (buyi ] o . .
, . ' ying) the asset will become expensive. Itis
e the protection is needed. Alternatively, where short selling is allowed, an investor may

gort sell the asset expecting a fall in price, and buy back later. The investor carries a risk if
] ice rises subsequently. To minimise the risk involved, the investor can buy a call option. In
we event of rise in price, the investor can exercise the call owned and compensate for the
ssses incurred on the short position in stock. It may be noted that the loss in case of rise in
price is limited to @ maximum of premium paid for the call option (long call). In case of fall in
trce, the profit from the stock is reduced by the amount of premium paid on the call

i Income Generation through the Strategy of Writing Covered Call

Both the strategies discussed above aim at limiting the risk of an underlying position in
mnequity stock option. Both of them may also be used for generating returns from the positions
nstock. To earn the premium an investor may choose to write a call option expecting that the
nicewill not exceed the exercise price. If the expectations come true, it would not be exercised

bythe call option buyer or holder. Thus, the seller can pocket the premium.

Erample
Suppose an investor writes a call for X5 premium for a strike price of X 100. The stock
bice falls to ¥ 95. In this case the option holder would not exerci.se t.he option. Thisis beca.use
fehas o buy the stock by paying ¥ 100 for which the r'nark'et price is X 95. Thus Fhe pr.emlum
Iteiveq by the writer is his profit. However, in caseé his price excged§ the exerusg price, t-he
"Mtion holder (he has the right to buy the stock but he has no lelgatlon to buy) will exercise
Pecall Thus the writer (seller) will have t0 deliver.the unfj?rlylng a'sset 3; the current maszt
e, Such strategy is called naked call writing, i€, Writing a cal on tt g ass}e;ti:ztbowne '
ted call writing is deemed to be extremely speculﬁtlve strategy D n? ure.I I'I .teC:U.SE
foravery small profit, i.e., the call premium, a call writer assumes significantly ;m imi ed ns”
0 inc“"ing unlimitec’i I.o.;,,ses. In contrast t0 naked call writing, t-rle St,rci:ggzaﬁ aTrc:;edreo \:,:5
Writing Onthe asset already possessed can be used. In cas.e the wri sr 0 i zin =
t eUnderIying 2sset on which the call is written, the delivery can be ma going
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arket to deliver it). This strateg, "
dormant. If not much gain iSfOre:h“ :

the market (i.e., he need not buy the ass arkets are 6
effectively used to increase income when me the owner of the asset may choose tq \MritEr

. itions the o :
on the asset owned in such market conditio e of rise In price in market when there &

call to earn premium and enhance return. Ih c oy owned for delivery. Let us . |
volatility, the call writer can fall back on the as:r,et air {2 100 with the premium of 2 o |
example. Suppose an investor owning stock writesaca oo the call s the Wit 1,
the price increases beyond X 100, the holder wou.ld exercl e dioEBunth rw%
meet his obligation without going to the market. This means tha ot be|ow;St°€k” |
increased price because he has already owned the stock. If the pﬂce : ' 100,&;_
holder would not exercise the call. The writer will get 312 (premlum) an conFlrlues to ke&_ :
the asset (stock). This has become possible through writing a covered call. ertmg ? Call . §

d call means writing 3 ¢y |

also be deemed as hedge against falling prices. In short, covere
when the writer holds or owns the security (i.e., the writer has already held the security),

ot from the m

Covered Call (OTM) Construction
Long 100 Shares

Sell 1 Call
The profit or loss diagram of a covered call option is given below :

Profit 4
0, |
Long Stock‘/'
Max Profit 12 - P R . ,o" Covered Call
Break Even ‘," -
\ A
88 ,"'a 3 . —
o U012 Stock Price
Rt .. at Expiration
o "4
% Call Option (Selling a call)
B'
Loss




:;!ddes to exercise the option, the seller of the
aling market price and give it to the ca| owner,

income Generation through the Strategy of Writing put

The St.ra‘tlzér o\tv;/]v:tmg a .covered call is used when no upside movement in price is
jrecast: 5@' Yr n c.)ne Is short on stock (not owning the stock) and no downside
movement IS fc?reseen, an Ir.\vestor can decide to write a put option to increase returns in the
¢hort run. Writing a put option, while short on the underlying , is similar to writing a covered
. Unlike covered call, there is no such term called covered pl;t. If an investor writes a put he
nust buy the stock when required by the put holder at exercise price. This is because the
nvestor has sold the right to sell the asset to the holder. The holder has the right to sell (but
not obligation). When the holder exercises his right, the writer must buy it. The writer of the
out gets the stock at exercise price. This can be used to fulfil the position of short stock (sell
the stock without owning it). In short, covered call is a less risky strategy.

5, Speculations with Single Option

This is another trading strategy involving option. Speculative strategy with options are
ather simple. When one is bullish (expecting a price rise) he will buy a call option. This call
option provides a gain if the market price exceeds the strike price. Similarly, under bearish
conditions (expecting a price fall), the investor will buy put option. This will provide a gain if
spot price (market price) is less than strike price of put. He can sell at strike price which is
higher than the market price. Hence he gets speculative profits. Depending upon the view of
the investor about the future price movement the speculative position of buying a call or put

@n be taken. In short, options can be used for speculative purposes.

Other Option Trading Strategies (Combination of Options)
rsatile in nature. There are a large number of trading strategies that

options. These strategies are used for trading as well as for
ombined with the objective of risk containment it will be
d to take a specific view on the future price and the
nt trading strategies by combining options may be

Options are very ve
@ be created by combination of
hEdgfng purposes. If options are ¢
lled hedging. When options are continue
sk, it will become speculative. The differe

“plained as below:

L Straddle s 7o
Astraddle consists of buying a put option and a call option \fwth the same exercise price

" date of expiration. Straddle isan appropriate_ straFegy foran |nve§tor who expects a large

Move in the price but does not know in which direction the move will be. Straddles may be

"8 or short,
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ionand a putoptionont, |

' | opt S |
ing a cal W
addle is formed bY oLy is an excellent strategy to use Whey, \,'5
i §

: Long str )
Long Straddle : Long L expiry

stock with the same strike price a L
think that the market is going tO move

, i.e., buyin

A long straddle involves going I(?ng (Lsought )
same stock. The two options aré typlca”V St
same time. If the price of the stock increases

stock decreases, the put option is exercised. , F
Long Straddle Construction
Buy 1 ATM Call
Buy 1 ATM Put
Profit or Loss
or the call and put optigy,

. - . - . f
Maximum Loss: Maximum loss is limited to the total premium paid
oves up or down.

g) both a call option and a put oy
t the sameé strike price and expire '
.” option is exercised. If the price °fthe

3

Maximum Profit: Maximum profit is unlimited as the marketm

Break-Even Points
There are 2 break-even points for the long straddle position. The break-even points ¢

be calculated using the following formulae:
Upper Breakeven Point = Strike Price of Long Call + Net Premium Received

Lower Breakeven Point = Strike Price of Long Put - Net Premium Received

Example
Let us explain the long straddle with the help of an example. Assume that the cash price |

of a stock is ¥ 100. Mr. A is not sure about the direction the market price of stock s likelyts |
move. But he believes that stock will move substantialIyAin either direction. Therefore, heis 7;,
interested in establishing a long straddle position. He buys one call and one put optionat?
strike price of T 100 on payment of premium of ¥ 5 each. Then his total outflow at the timed
buying straddle will be Y10 (premium on both). Suppose the market price of the stock falls®
% 85. Then A would not exercise the cal| option (since strike pricej 'p ce of thesto
s higher, he would not buyl 1




v;&ndthe strike price.
af

4ifmarket gO€s down, put generate

141
ckatthe strike price of ¥ 100 when the .
0

o arket price . +
- rhennetprofitisI5 (155 S). Ifthem t Priceis 2 115). But call option will generate
( IS(;SS This is called upside BEP for the Stra((:(;:((Et Pricels? 110, straddle position has no profit
n0 ' n . » e u ' ) ‘
¥ tion will give 3 : Yer. If market

5, the pOS! g profit, Thus, the Premium paid (X ;)(r)l)c:rléaizzv;h:;epizz\tli;:i

in short, in case of straddle, it Market moves up, call
, Ca

S value for him.
The pay-off for long straddle is shown in the following dia

Profit 4

generates money for the investor,

gram:

»

Break Even‘f“
/ Points \

Stock Price
at Expiration

110

Max. Loss-10 + \
100

Loss Long Straddle Pay-off (Fig. 15)

Whento Use the Long Straddle Strategy

Indetlying asset and we do not know in which direction it is going to move.

long straddle is a suitable strategy when we expect M in Mices of the

hort Straddle : A short straddle is fbrmed by selling a call optior-\ and a put option onthe same
“Setwith same strike price and same expiry date. It generates income because prem:ums on
Wt the options are received (seller shall recei‘ve prfeml.um). Short strad.dle snfnply means
oing short (selling) both options. If the underly!ng price is clo§||e to thhe strike price at expiry,
0th the options will expire. Then the option writer (trader) wu| git t ehprlemuum. :Ilobwehv-e}r;
Sisa very risky strategy. If the price moves up or down sharply, then the losses will be hig

€ option writer.

'honstraddle Construction

Sell 1ATM call
el 1ATM put
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e S ket moves in either direction, the Ios.s will be l'Jnlidmfited. 1
l':/lﬂ:::rr::: IF;:Zi;t/?STttm:emn;i:rr?um gain is limited to the net premium received for Se”ingthe |
options.

B'ea:rﬁ:::r‘:?;reak-even points for the short straddle position. The break even Points, |
be calculated using the following formulae: T N

Strike Price of Short Cal

. Upper Breakeven Point = . .
. ce of Short Put - Net Premium Received

. Lower Breakeven Point = Strike Pri

Example

Let us explain the short straddle with the help of an ex

case of straddle seller there will be a profit as long as cas g
(market price) at expiry of the option, is within arange of ¥ 90 and ? 110. In fact, % 30 andz

are BEPs for straddle seller as well. If market price goes below % 90 or above X 110, a sho
straddle position will result in a loss. The maximum profit to the straddle seller will occyri
the market price of the stock happens to be the strike price of the option, i.e., 100 at the
expiry of the options. This maximum profit will be total premium received for the options
i.e., ¥ 10. In such a case the buyer will not exercise the options (both will expire).

The pay-off for short straddle is shown in the following diagram :

ample given for long straddle,|,
h price of the underlying agg

Profit T

Max. Profit 10 —+— 100

90

_ I
\Break ever/
points

¥ No profit zone _ )

110

v

Stock Price
at Expiration

Loss

Short Straddle Pay-off (Fig 16)
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g e to Use the Short Straddle Strat egy
q _
tor expects th
: when the inves etk o | -
g ot straddle strategy can be used. twil rema|_n stable (less volatility), then the
5 -

strangle

ithin the two strike prices, none of the options will
options are Iostthe market price goes above the

_ of the put, a long strangle starts paying-off the cost
qitially (premium) and then results in the profit, if price movement is large enough.

long Strangle Construction
Buy 10TM Call
Buy10TM Put

Profit or Loss

beexefdsed' Then premiums paid on the
rike price of the call or goes below that

Maximum Loss: Maximum loss is limited to total premium paid for the call and put option.
Maximum Profit: Maximum gain is unlimited as the market moves in either direction.
Break Even Points

There are 2 break-even points for the long strangle position. The breakeven points can
be calculated using the following formulae:

+  Upper Breakeven Point = Strike Price of Long Call + Net Premium Paid
+  Lower Breakeven Point = Strike Price of Long Put - Net Premium Paid

fXGmpIe g
Long strangle may be understood with the helpofan exam.ple. Suppose the cash price of
the stock is 100, A trader buys a call option of ¥110at< 2 premium and a put option at ¥ 90 at
¥Premium of ¥ 2. Total cost of establishing this strangle position is X 4 (total premium).
Suppose market price at the expiration date is X 75. The fcrader would not.exc?rcise the call
"tion. This is because he has to pay ¥ 110 (strike) for which the market price is ?.75._ In the
s, he can sellat Y90 when the market price is X 75.
Swill result in a profitof T 11 (15 - 4). Suppose the market price is ¥ 86. Then he would.not
"ertise the call option. He would exercise the put optlon. (s.eII at3 90 wh.en the market prices
53 86). Now there is no profit no loss (90 - 86 - 4). Tl?us is the doerSIde BEP for the long
Dosition, Suppose the market price is ¥ 114. He will exercise the call option (buy at¥ 110 when
Market price is ¥ 114). Here the gross profitisX4 (114 - 110). But he would not sell the put.

"¢2ntime he will sell the stock (put). Thati
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1t 7 90, but the mar’;f,t T::eiz i_ldl‘*éThe toy
cc (4 -4), This ide '
premium paid by him is T4, Now there is no P”—"'F o Iojt‘)h(:'l st[‘o)ck (call optio?'\ at I ﬁ(:ort
long position. If the market price is T 120, he Vel r'tock at 190 when the Mark Ty
provides anincome (G/P)of T 10. But he would not sell Fh.ﬂ‘ ,{ 6 (.. 10-4) et
is ¥ 120. The total premium paid is T 4. S0 the net profitis e, 1 - 1
Then the investor will incur the maximum loss of T4 (tétal pre{m;;(r)n ps‘() o
price lies between 90 and T 110. But if it is between ¥86and 90 Or_ o b ', hig log,
will depend upon actual price of the asset in the cash market. vathe price gj)fs d ove‘thesmh
price of the call or goes below the strike price of the put, the investor will get profit.

This is because he can sell the stock only

b!:_
Pricg

The pay- off for long strangle is shown in the following diagram

Profit 4
«—— No profit zong —
Break Even / Break Even
\ 110 o,
114 )
i Stock Price
: at Expiration
Max. Loss - 4t
Loss

Long Strangle Pay-off (Fig. 17)
When to Use the Long Strangle Strategy

Long strangle is used when an investor ex

Pects volatility b ) in whic!
direction it is going to move, Y but he doesn’t know in

strike prices are further apart,

Short Strangle Construction
Sell 1 OTM Call
Sell10TM Put
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yoft 0 LO%*

e s: Maximum los i

M”imum ::Zm- But the ma:i ‘s unlimited as the market moves in either direction.

M’,{;mum ' " Mum gain is limited to the premium received for selling the

n!lons‘
p
rt‘ak [Vcn Po‘nts

There are 2 break-even points for the short
bccak-“'amd using the following formulae:

. Upper Breakeven Point =

B
trangle position. The breakeven points can

Strike Price of Short Call + Net Premium Received

. Lower Breakeven Point = Strike Price of Short Put - Net Premium Received

The buyer’s loss becomes the seller’s profit. Seller’s maximum profit is limited to the
premium received by him. It will occur when the market price is in between T 90 and ¥ 110. If
e price goes above the strike price of call or goes below the strike price of put, the seller will
ncur loss which is unlimited (students may verify this with the help of their own examples).

The profit or loss diagram of a Short Strangle is given below :

Profit ¢

Mx. Profit 4 =1

Break Cven 114 Break Even

i |
86 90 “0 Stock Price

at Expiration

i
i
i
!
|
{
i

+—- Profit Zone ———h‘

Loss

Short Straddle pay-off (Fig. 18)

“hento Use the Short Strangle Strategy
. Ashort strangle is used when an investor expe
"ket prices will remain stable.

4 Strap

_ “ap s the reverse of strip. In this
“on at the same strike price and maturity.
*#€ more than the chances of going 1t dow

cts a low volatility and thinks that the

strategy, the trader buys two call options and one put
This strategy is used when the chances of price going
n. Thus, strap is similar to long straddle. The only-



u-.,ne,;?

en the prices incr
s and not one call). wWh P Case, str,,
le because he has bought twg cally ¥

‘

difference is the quantity trn.d‘Cd (two C‘Z’“t long stradd
strategy will make more profits compared to
Strap Construction

Buy 2 ATM Calls

Buy 1 ATM Put
Profit or Loss
M::]lmum ioss: Maximum loss is limited to net premium paid. It occurs when the Price
underlyi al to strike price of calls / puts.
Max(;myur: :’Srce:?iltj: Profit is unplimited. The gains from upside movement would double Whe,
two calls become in-the-money. The gains from upside movement will be larger than Stragg,
and remain same for downside movement.
Break Even Points

There are 2 break-even points for the strap position. These are calculated as follows.
«  Upper Breakeven Point = Strike Price of Calls/Puts + (Net Premium Paid/ 2)

« Lower Breakeven Point = Strike Price of Calls/Puts - Net Premium Paid
Example

Suppose the cash price of stock X is 3100 and Mr. A buys two calls and one put at strie
price of ¥ 100 on payment of a premium of X 5 each. Now his total outflow at the time ¢
buying the strap is ¥ 15. He will lose money between the levels of 85 and 107.5 (break eve
points). He will incur the maximum loss of T 15, if on expiry, stock price closes at ¥ 100. When
there is an upward move in the price of underlying, the two call options generate more profits

than the loss of only one put optionin case of a downward move. The pay -off profile of astres
buyer is shown below: |

Profit 4

No profit Zone

Break Even Break Even

Stock Price
at Expiration

Max. Loss - 15-

100

Loss

Fig. 19
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strap seller will achieve the maximum

0% 100 at the expiry of the options profitif price of stock is the same as the strike

Prife.\’,e.d ’i.e., is T 15. and it will e equivalent to the total premium
e i
rofit or loss diagram of is gi
ol a Strap Seller IS given below :
Profit 4
Max. Profit 15 'Y

85

/ ?\Break Even

Points

>

Stock Price
at Expiration

i «—— Profit zone ——p

Loss
Fig. 20

When to Use the Strap Strategy

Strap is used when the option trader thinks that the underlying stock price will experience
sgnificant volatility in the near future and is more likely to move upwards instead of falling
downwards.
4;,/Strip
i Strip involves buying one call and two puts with the same expiry date and strike price.
This strategy may be adopted when chances of prices going down are more than the chances
ofgoing it up. Ifthe prices move downwards then this strategy will make more profits because

"fthe double quantity (two puts) involved. This means that the 2 put options generate more
Pofit than the loss on call. Thus, stripis a modified, more bearish version of the common

fraddle.

Mtrip Construction
Buy 1 ATM call
Buy 2 ATM Puts

aj -
"mum Profit: profit is unlimited-




Break Even Points ition. The breakeven pointg Can |
Je

There are 2 break-even
calculated using the following formulae:

points for the strip pos

ice of Calls/Puts * Net Premium Paid

s e o e e S

. Upper Breakeven Point = Strike Pr (Net Premium Paid + 2)
. Lower Breakeven Point = Strike Price of Calls/Puts - F
Example i
p der buys one call and two put optiong aty |

Suppose cash price of stock X is X 100. Atra i total outflow at the :
strike price of T 100 on payment of a premium of T 5 each. His  ycla oo ime ¢
buying the strip is ¥ 15 (Premium). Trader will lose money bet\fveen the ?Ve | ; 03"(1115 !
(break even points). He will suffer a maximum loss of T 15, if .stock price closes at ¥ 109, |
expiry. In the case of downward move in price of the underlying stock the two put optig,
generate values for the trader. But in the case of an upward move, only one call optjg, |
generates profit.

The pay- off position of strip buyer is shown in the following diagram:

Profit 4
_ No.Profit _
= zone . —*!
i Break even |
92.5 Stock Price
: at Expiration
Max.Loss - 15 — '
100
Loss
Fig.21

When price goes down, two puts become in-the-money. When prices go up only one cal
becomes in-the-money, making gains unequal for same rise than fall in the price.
The strip seller will earn the maximum profit if price of the stock happens to be the strike

price of the options, i.e., Y100 at expiry of the options. The maximum profit will be equi\lai‘fﬂ ;
to the total premium received, i.e., ¥ 15. \

The pay-off profile of the strip seller is shown in the following graph :
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Profit 4
Max. Profit 15— 100
925
Stock Pric;r.:
at Expiration
A
Loss

Fig. 22

When to Use the Strip Strategy

Strip is used when the option trader thinks that the underlying stock price will experience
sgnificant volatility in the near future and is more likely to fall downwards instead of rising.

5. Option Spreads Strategy

Combinations, as discussed above are created by using two different types of options on
the same asset and same expiration dates. Spreads are created with positions on the same
type of options on the same asset but with different strike prices. Thus, an option spread
vading strategy involves taking a position in two or more options of the same type
smultaneously on same asset but with different strike prices. ‘

——

Option spread may be classified under three categories: vertical spreads, horizontal
“reads and diagonal spreads.

Yertical spreads: This is an option spr
j"afmg different strike prices but the s
“Wysa March put option on Tisco stoc
Virch put option on Tisco stock with a stri Y . -
Horizonm/ spread: This strategy involves taking o'ptlon position m.51mnle?r options (etthe‘r call
“put ) having different expiration dates but with the sam: stnk'e; price. F?; ‘;Z‘g‘.‘plff ;:En
Nvestop simultaneously buys a July call option on SBI stock with a strike price 0 and sells

“BUst put option on same SBI stock with the same strike price of 3 740. ,
tion in options of the same type with different

ead made by combination of options (either call or put)
ame maturity. For example, aninvestor simultaneously
k with a strike price of X875 and simultaneously sells a
ke price of X 870.

giqgona’-spre,ad: This involves taking posi
ke Prices and different maturities.

Spread strategies can be evolved for be
Preads can be classified into bull spreads

arish conditions and bullish conditions. Accordingly,
and bear spreads.
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(a) BullSpreads ck spread, put back
Bl spreads include call bull spread, put bul spreatd' cka:::z lowper strike price) as:crieadl
‘ ] ian on stocC Se
In this strategy, the investor buys a call option e maturity. Bull spread is adoptilg

. . i am
a call option with a higher strike price, but with the s 1o make profit from a rise;
when the prices are expected to go up. Here the trader hop Nthe

iti s buying one opt;j
price of the underlying. This is a spread strategy because it involves buying Plion ang

i i ice has a greater prem;
selling a related option. Generally, a call with a lower exercise pric g Premiyn,
f the two calls, the purchased call js,

If the stock price lies between the strike price O .
the-money while the call sold expires unexercised. Thus the pay-off equa.als t.he difference
ke price. If the stock price is greater thy,

between the stock price and the lower exercise or stri : The pav-off
the higher exercise or strike price, both options are in-the-money. pay equals the

difference between the exercise price of the two options.
Bull Call Spread Construction

Buy 1ITM Call

Sell10TM Call

Profit or Loss
Maximum Loss: Maximum loss is limited to the premium paid for long call minus the premium

received on short call.
Maximum Profit: Maximum profit is limited to the difference between the two strike prices

minus the net premium paid.

Break Even Point
In case of call bull spread, B.E.P is calculated as follows:

e Breakeven Point = Strike Price of Long Call + Net Premium Paid

At expiry, if the stock price remains below the lower strike price, both calls would expire
unexcercised. Then the loss will be limited to the initial cost of the spread (i.e., the premiu

paid on both).

Example

Suppose you buy a call option with an exercise price of 50 for ¥ 8 and sell one with an exerci®
price of T 60 for a premium of X 2 both being on the same stock and with same expiration date. No¥
if the price rules at Y50 or less, none of them would be exercised. with the resn?lt that the pay?
will be nil and the net loss would be X6 (8 - 2). If the price of stoc’k at the ti f exercise i sa}
¥ 58, then the call with an exercise price of ¥ 50 shall be exercised for o ?f efx58 _50=%8,
the net profit being 8-8+2=X2.Finally, if the price of the stock is high d p::y-o? o) o of thest
will be exercised and the pay-off would be 60-50=% 1 with the netgpfc:ft]t ZZU:I?;) 1% =34

In short, in case of call bull spread (bull s : e
o . pread usin C . ill haV
one long call with a low strike price and one short ca|| witgh aa::?é,htehe toF)ktnon .trader W
r strike price.

The graphical representation of call bull spreaq s shown as foll
ollows:
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PrOﬁt 4

»

Max. Profit 4 = ; —p

Break Even

b

Stock Price
at Expiration

Max. Loss -6 +— G
Loss

Bull spread using Calls (Fig.23)
E,and E, are the respective strike or exercise prices of the calls that are long and short.
Whento Use the Call Bull Spread Strategy

Call bull spread is used when the trader thinks that the price of the underlying asset will
goup moderately in the near future.

BullPut Spread
Vg

Abull spread can also be created using puts. This strategy consists of buying an OTM put
a higher strike price) and selling an ITM put (at a lower strike price) on the same stock
&set) with the same expiry date. The premium received on short put (sell put) is higher than
Y premium received on the long put (buy put). On expiry, if the stock remains below the
ower exercise price, both options are exercised and the position is closed for the difference
“tween the two exercise prices. This results in an overall loss of the initial credit (higher
E’emium received on short put minus lower premium paid on long put) minus the difference.
"the stock price is between the two exercise prices, the put with the lower exercise price
"%ld expire ynexercised resulting in a net profit equal to the initial credit (premium) minus
E'?Edifference between the exercise price and the stock price. For the stock prices exceeding
:'=Ehigher exercise price, both puts expire unexercised leading to no pay-offs and a net profit
?“'a’ to the initjal credit. In short, in case of put bull spread, the opFion trader will have long
" option with a lower strike price and another short put option with a higher strike price.

I

Put Spread Construction
Suy10TM pyt
Sell 1T Put
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ween the strike prices of y,, b |
Ll

Profit or Loss il

Maximum Loss: Maximum loss i
puts minus net premium received.

Maximum Profit: Maximum profitis

Break Even Point
In the case of put bull spread, the BEP is c

Breakeven Point = Strike Price of Short Put- Nel

1] 1] ‘l
equal to the different

(! f LCATS
limited to the nel premium_ e Ivat! M ’“”””“""mmm

Meulated as follows :

pPremium Received

Example 240 for 2 6 and
Suppose an investor buys a put with an exercise price equal to /l. r0r and writes 3,
s equal to X 50, for a price of 19

option identical in all respects except the exercise price that s ellsesthan
This spread gives an initial credit of X 3 (premium). Now, if the stock price is less than <40, th,

both options are in-the- money and can be exercised. Acommitment o byy at 150 and to sell
¥ 40 implies an outward pay-off of ¥ 10 and a net loss equal to 10 - 3 =X 7. For a stock pricejy
between the two exercise prices, say, L 44, the investor has to buy the stock at X 50 and thus lose
% 6 on the option. In this case, the net loss would be equal to 6- 3 = ¥ 3, Similarly, when the stock
price is more than ¥ 50, none of the options will be exercised and a net profit of T 3 will be made,

The profit or loss diagram of a Bull Put Spread is given below :

Profit Ar
Max. Profit 3 1— ' Break Even >
T 140 \ / 50 i
3 41 E, Stock Price
at Expiration
Max. Loss -7 4= 4—
Loss

Bull spread using puts (F ig. 24)
When to Use the Put Bull Spread Strategy

Put Bull Spread Strategy is used when the i
trader thj ; in
will go up moderately in the near future, " thinks that the price of the underl/




. This strategy is form )
{4 pack spre::‘e underlyinggstock witgltar:ed by buying 2 0TM call options and selling 1 1TM ¢al
g [ionofthe ) arket moves up ( B Sa”_‘e expiration date. Risk is limited. But the rewards
y n,,'mited ifm P (rewards are limited when the market moves down).

arel‘;ack spread Construction
- ¥

g 5e|l1lTM Call
Buy 2 oTM Calls

. Proﬁtor LoSS
yaximum Loss: Ma>f|mum Io?s is limited to the intrinsic value of the short call plus premium
sid (or minus premium received) plus commission paid.

yaximum profit: Maximum profit is unlimited.

greak Even Points
There are 2 break-even points for the call back spread position. The break even points
anbe calculated by using the following formulae:

Upper Breakeven Point = Strike Price of Long Call + Points of Maximum LOss

Lower Breakeven Point = Strike Price of Short Call
The profit or loss for Call Back Spread is shown in the following diagram:

Profit4

—

+
. Stock Price

at Expiration

Loss

Fig. 25
Wh
®Nto Use the Call Back Spread Strategy
Call back spread is used when the option trader thinks that the underlying stock will

Xper; : :
Perience significant upside movement (large jump) in the near future.

¥
r
¥




221547 ﬁ

z

nancial perivatives and Risk Manog%e

o ITM put option (ata higher strike pricq G i

, ingon
Put Back Spread : This strategy involves selling ©

_ the market price rises the i,
buying two OTM put options (at a lower strike price)- When ts more profit (from buygnve X
ket falls, he B€ 8 twy P

gets profit (from selling one put). But if mar |
puts). Loss is limited in this strategy. “

Put Back Spread Construction
Sell 11TM Put
Buy 2 OTM Puts

Profit or Loss
Maximum Loss: Maximum loss is limited. It is equal to the intr
minus premium received plus commission paid.

nsic value of the short p,, |

Maximum Profit: Profit is unlimited. When the stock price makes a strong MOVe to the

downside beyond the lower BEP the trader earns profit.
Break Even Points
There are 2 break-even points for the put back spread position. The break even points
can be calculated using the following formulae:
. Upper Breakeven Point = Strike Price of Short Put
Lower Breakeven Point = Strike Price of Long Put - Points of Maximum Loss

The profit or loss diagram of a Put Back Spread is given below :

Profit 4

Stock Price
at Expiration

o o

Loss

Fig. 26




en 10 use the Put Back Spread Strategy

ad is used wh .
put back sPre en the options trader thj
e g er thinks that the underlying stock will
e‘perience significant downside movement (loss) in the near future underlying

183" spreads

This is Bppess .Of bull spread. This strategy is used when an investor believes that the
ket will be wc?ak in near future, i.e., the market s likely to go down. Bear spreads can be
constrUCtEd by using calls and puts. Accordingly we have call bear spreads'and put bear spreads.
gear Call Spread ('Ol' Call Bear Spread): A bear call spread is created by buying a call with higher
rike price and snmu!taneously writing a call ( selling a call) with lower strike price. It may be
-oted that the premium for the call sold would be greater than for the call bought. Hence,
ear spread would involve an initial cash inflow. This is known as bear spread because the
rader will be able to make profit only when prices decrease. It is also known as the call bear

gedit spread. In short, call bear spread is a combination of selling a call with a low strike price
and buying a call with higher strike price.

gear Call Spread Construction
Buy 1 ATM Call
Sell 11TM Call

Profit or Loss

Maximum Loss: Maximum loss is limited to the difference between the two strike prices
minus the net premium. |
Maximum Profit: Maximum profitis limited to the difference between the premium received
forthe short call minus the premium paid for the long call.

Break Even Point

Inthe case of Call Bear Spread, the BEP is calculated as below :

Breakeven Point = Strike Price of Short Call + Net Premium Received.

EXOmp[e

Suppose the cash market price of SB stock is T100. A trader buys a.call optior? ata s.,trike
Price of T 100 (ATM) for a payment of premium of T'5. He sell.s a call option at a strike price (?f
% (ITM) and receives a premium of Z 12. The net credit is T 7 (at the time, s.pread. is
“tablished). If the price of the underlying is at of below ¥ 100, bqth options will expire
Worth|egs and the total profit is ¥ 7. The BEPis % 97. Asllong as the prl.ce c?f the underlying is
%er than ¥ 97 the profit is limited to X 7. If the price of underlying is z.above -? 97, the
"aKimum Joss w’ill be ¥ 3 (i.e., 100- 97). If cash price IS above ¥ 100, both options will have an

pinc: ;
"rinsic value and the spread will result in a loss of X 3.
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; - lowing diagram :
The profit or loss for Bear Call Spread is shown in the fol g diag

Profit 4
Max. Profit 7 —— <
Break Even
100
T 97 I —
I é Stock Price
E1 2 at Expiration
Max. Loss -3 —— >
Foss Bear spread using calls (Fig. 27)

When to Use the Call Bear Spread Strategy

Call bear spread is used when the market direction is moderately bearish. This means the
trader expects that the price of the underlying asset will go down moderately in the near future

Put Bear Spread : Bear spreads can also be created by using put options instead of call options.n
such a case, the investor buys a put with a high exercise price and sells one put with a low exercise
price. This would require an initial investment (cash outflow) because the premium for the put
with a higher exercise price would be greater than the premium receivable for the put (sold) with
the lower exercise price. In this spread, the investor buys a put with a certain exercise price and

chooses to give up some of the profit potential by selling a put with a lower exercise price. In

return for the profit given up, the investor gets the price (premium) of the option sold. i

Thus, put bear spread is a combination of selling one put option at a low strike price and
buying one put option at a high strike price.

Put Bear Spread Construction
Buy 1 ATM Put
Sell 1 OTM Put

- Profit or Loss

Maximum Loss: Loss is limited to the net premium Paid for the spread. In other words the
premium paid for the long position minus premium receive for the short position will be'
maximum loss.

o
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m profit: Maximum profit is limited to th
M.a):,l; e net premium paid for the position,
|

€ difference between the two strike prices

1 case of Put ?ear Spr.'ead, Fhe BEP is calculated by using the following formula :
greakeven Point =Strike Price of Long Put - Net premium paid

parP e .

suppose.caSh (narke‘t Price of scrip X is assumed to be ¥ 100. December put option is
ught on ScriP X with strike price ¥ 100 (at-the-money option) on payment of a premium of
¢5and another December put Option on scrip X with strike price ¥ 90 (out-of-the-money
gption) iS sold onreceiving a premium of X 2. This would result in an outflow of Z 3 at the time
ofestablishing the spread. If price of the underlying is at or above ¥ 100 both options will
apire worthless and the total loss on the position will be net option premium paid, i.e., 3 3.
thebreak-even point for this spread position is at the level of ¥ 100 (higher strike price) minus
et debit of T3, i.e., at X 97. This means that the spread position will expire with zero value if
inderlying asset’s price is X 97 at maturity of the options, Furthermore, as long as price of the
" inderlying is lower than X 97, the spread position would result in a profit amounting to the
gfference between X 97 and actual price of the asset (maximum profit of ¥ 7). For cash price
velow T 90, both the options will have an intrinsic value and be exercised and the spread
position will result in a profit of X 7.

The profit or loss for Bear Put Spread is shown in the following diagram:

Profit 4
Max. Profit 7 —— <—
Break Even
/ 100
9|0 97 | R
| El Stock Price
Eq 2 at Expiration
Max. Loss -3 — >
Loss Fig. 28
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When to Use the Put Bear Spread Strategy ,der expects 3 bearish trend on Marg
Put Bear Spread strategy is used when the ”.'n t“ho trader thinks that the price o tf
direction. In other words, this strategy is used when the ¢
underlying asset will go down moderately in the né€
{¢) Butterfly Spreads .
Butterfly spreads can be created through d,ffer ) option contracts at three diffe
To establish a butterfly spread, a trader takes positions |r:| four gu ing another call with ki rfb
strike prices. It involves buying one call with strik.e pr'C_e EEx' th:t lies between E. and E'g_r"‘-’f
strike price E,, and writing (selling ) two calls at strike price &5, &0 e staySclosets El prof".t rs
price E, is usually close to the current stock price. If the stock pric y 2 - ity
. ) . P o 2 ‘e movement either away from it. 1.
result. A small loss will incur if there is a significant price '

i h X
strategy is used by a trader who believes that there would be no large price changes. It mayt.
e-money. Ther

s e trader ha "3
noted that the call at lower strike price E, is in-th _ ‘ c.efore, ﬂ; o S to pay;
larger premium. The other call bought with higher strike price IS out-of-the-money and th

ar future.

ent combinations of call and put optjq,,

premium is lower.
Butterfly Spread Construction
Buy 1 1TM Call
Sell 2 ATM Calls

Buy 1 OTM Call
If E,, E,and E, be Y 50,% 60 andX 70 respectively, and the stock price be less than 350,

then, clearly, no call will be exercised. Accordingly, the total loss equals the initial cost involved
Similarly, beyond ¥ 70, when all calls will be exercised, the total loss equals the initial cost,
because the gain on the options with long position will be exactly offset by a corresponding
loss on the two options written (sold). Gain (profit) would result when the stock price is
between I 50 and X 60, and shall be higher as the price moves towards T 60. Beyond this price.
the amount of gain would decline with an increase in the stock price up to the level of T 70.

There are four types of Butterfly spreads. They are : (a) Long Call Butterfly, (b) Short call

Butterfly, (c) Long Put Butterfly, (d) Short Put Butterfly.

Lo.ng Call Butterfly : The long butterfly can be constructed by buying a call with lower striké
price (in-the-money call), buying a call with higher strike price (out-of-the-money call) and
writing (selling) two at-the-money calls with strike price in between the above two strike

prices.

Profit or Loss
Maximum Loss: Maximum loss is limited to the difference between the ATM strike price and

ITM strike price minus net premium paid for the spread
Maximum Profit: Maximum profit is limited to the net premium received f the spread'
ed from
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] Jre are 2 break-even pojint

fhet- d by using th f S'forthe bUttel’ﬂy Spread e

1 calculated DY & the tollowing formulae. ad position. The breakeven points
; Jpper Break Even Point = Strike Price o

profit4
1 =
E, E, Ej Stock Price
at Expiration
— —>
Loss

Long Call Butterfly Spread (Fig. 29)
| "hento Use the Long Call Butterfly Spread Strategy

| longcallbutterfly spread is used when the investor thinks that the underlying stock will
{ “trise or f3)] by expiration, i.e., the investor is neutral on market direction and bearish on

{ Wlatilty,

A Sort Call Butterfly : A short call butterfly option strategy consists of the following three options :
| Selling one call option with a relatively high strike price say E,

| Seling one cal option with a relatively low strike price say E,

i) Buying two call options with a strike price say E,, halfway between E, and E..

Mor Logs

| \,a“mum Loss: Maximum loss is limited to the difference between the ATM strike price and
{ ke Price minus net premium received from the spread. N
“Himup, Profit: Maximum profit is limited to the net premium received for the position.

§ i )
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osition. Th .
Break Even Points Al butterfly spread p e breakevEn :

There are 2 break-even points for the shortc

i ulae: .
points can be calculated by using the following form - short Call - NetPremivm fecs. |
) Point = Strike Price of Highest Strike ShO Ceiye, |

strike Price of Lowest strike Short Call + Net P.l'emlf}m Receive,: 1
ad is shown in the following diagram .

. Upper Break Ever
. Lower Break Even Point =
The profit or loss for Short Call Butterfly Spre

Profit 4
>
] | | .
| l l Stock Price
Eq Es Es at Expiration
Loss

Short Call Butterfly Spread (Fig. 30)
When to Use the Short Call Butterfly Spread Strategy

Short call butterfly spread is used when the trader i
eris neu : i 3
bullish on volatility. tral on market directionan §

Long Put Butterfly : A Long Put Butterfly involves the following tradings :
Selling two ATM Put options .
Buying one ITM Put option
Buying one OTM Put option

Profit or Loss

Maximum Loss: Maximum loss is limited to

, e the di .
ITM strike price minus net premium paid fo difference between the ATM strike pric€ and

. rthe spread
Maximum Profit: Maximum profit js limited to the :

n i . .
The profit or loss for long put butterfly spreagd &t premium received from the spread ;

Is shown in the following diagram:



T“onf
v

161

PfOﬁt 3
Stock Price
at Expiration
—
Loss

Long put butterfly spread (Fig. 31)
Whento Use the Long Put Butterfly Spread Strategy

Long put butterfly spread is used when the trader is neutral on market direction but
wlish on volatility.

hort Put Butterfly : This is a limited profit, limited risk option strategy. There are 3 strike
rices involved in a short put butterfly. It can be constructed by writing one out-of-the-
money put with lower strike price, buying two at-the-money puts (with strike price in
ltween the lower and higher strike prices) and writing another in-the-money put with

ligher strike price.
Short Put Butterfly Construction
Sell 11TM Put
Buy 2 ATM Puts
Sell10TM put
Pt or Loss
Ma"imum Loss: Maximum loss is limited to the difference between the ATM strike price and
My *trike price minus net premium received for the position.
Aimym Profit: Maximum profit is limited to the net premium received from the spread.
"Rk Eve . .
n %] -
here :;.lgt;reak even points for the short put butterfly position. The break even points
® Caleulated by using the following formulae:

2 Y
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e Short Put - Net Premium Rec%&

price of Highest strik

t strike

short Put + Net Premium ReCEived
<hown in the following diagram .

Upper Break Even Point = Strike ¥
.  Lower Break Even Point = Strike Price of Lo

dis
The profit or loss for short put butterfly sprea

Profit T

<

>

Stock Price
Ejs at Expiration

Loss

Short Put Butterfly Spread (Fig. 32)

When to Use the Short Put Butterfly Spread Strategy
Short put butterfly spread is used when the trader is neutral on market direction

(market may go on either direction, i.e., rise or fall) but bullish on volatility.

Iron Butterfly : This strategy is implemented when a trader is bearish on the volatility of

market and neutral on the market movements. In this strategy a trader buys 1 OTM put option,

sells 1 ATM put option, sells 1 ATM call option, and buys 1 ATM call option. Due to offsetting of

long and short positions, this strategy earns limited profit with limited risk.

(d) Condor Spreads

with E < E_<E_<E,. It uses two vertical spreads - i
1~ Fp 655k, a call vertical spread i read.
Itinvolves four call options or four put options. i e

U

The literary meaning of “condor” is a very large South American Vulture. Here, the optio"

is called the outer strikes and other one is call i '
| ed the inner strij :
: ] es. oncep
and methodology of a condor option trading strategy, one Hould g-:z :ncliderstagd tth:ScShape
nidea abouti
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condor spreads are of two typeg. long co

short condor.
condor: A long condor involves ¢

ne S .

i 0'\_“”\'(\ prices, i.e., E
o cnbetween £ and EE s highr tha
‘”\.(\

i hus, [0NE condor involves buying
;! jon contracts for the

S ) B treated by buying calls, with two
;and E (¢ : ' ’ i
. ,,([,ls lowestand E is| t) and selling two calls with strike

"4' arges
rto E, and E,islower than and closer to

nNand close
OPtion contracts for the outside strike prices and writing

0! 'hner strike prices
(he

or Construction
Long cond

puy 1 1TM Calls (Lower strike price)
ell10TM Call

puy 1 OTM Call (Higher strike price)
mofitor LOSS

yaximum Loss: Maximum |oss OcCcurs at the win

8s of the option spread.
vaimum Profit: Maximum profit is limited

to the difference between the premium received
{ inthe calls written and premium paid on th

e calls purchased.
Condoris also a combination of by|| and bears

preads; a bull spread with lower strike price
ndabear spread with a higher strike price.

The graphical representation of long condor is shown as below:

Profit +

E
4
‘,E ] | |

I | | Stock Price
! / E, Ej at Expiration

Loss Long Condor (Fig. 33)

Wh te . .
er:to Use the Long Condor Sttl':e i::der expects volatility of the price of the underlying
Mg condor is used when

: ey to be low.
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ying one put option with eXer

: %
e of E,, and selling two pyy, Wi

Long Condor using Put Option
3 8 pated by bu ‘
h

A long condor using put option can be cr
price E, and buying another put call with an exz
exercise price E,and E,. E, and E liein between Lk, il i
l SHorEESADTAE S thl Everss! S oo S'hor:vwc/z calls with strike prices of :n“: |
strike prices of E, and E, (Outer strike prices) and buying 2 3d
(Inner strike prices). " N

tis :

The short condor is a neutral strategy similar to the Shcf’_?mt:s;:g::z und;':('ir:ltetd Fisi, §
limited profit trading strategy that is structured to earn a profi ying stogy,;
perceived to be making a sharp move in either direction.

Short Condor Construction
Buy 1ITM Call

Sell 1 ITM Call (Lower Strike)
Buy 10TM Call

Sell 1 OTM Call (Higher Strike)

Profit or Loss

Maximum Loss: Maximum loss is limited to the premium paid.
Maximum Profit: Maximum profit occurs at the wings. It is the difference between the lower |
strike call spread and the higher call spread plus the total premium received for the condor

rcise pric
and E,.

The graphical representation of short condor is given below:

Profit ‘T

—>
E2 53
| e | |
| >
Eq EI Stock Price
. 4  at Expiration

Loss

Short Condor (Fig. 34)
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a gven points
B e 2 break-even poi
there ing the f p 'n.ts for the short condor pogitj .
CalcU'ated by using the ollowing formulae. 'tlon. The break even points can

q hortco
o jrections:

ndoris used when th
€ trader expects that stock price will move sharply in either
(e)calendarSpreads

calenda

: near call but write a distant call with the expectation
{ thatprice would rise enough in the near future to make the near call in-the-money but will

{ filthereafter so as to make the distant call out-of-the-money. The investor gets greater

{ yremium on the call written ,while he pays lower premium for buying the near call. Calendar
{ wreadis also known as time spread. :

1 (1BoxSpreads

Abox spread is a combination of bull and bear spread with calls and puts respectively
ththe same set of strike prices. Itis acommon arbitrage strategy that involves buying a bull
@lspread together with the corresponding bear put spread, with both vertical spreads having
| "esame strike prices and expiration dates. |
| Aboxspreadis created by (a) buying a calland writing aputat the s'ame §trike pri.ce, and
)Simultaneously selling another call and buying a put agal.n Sl Sl Sft”ke FAIce bu.t different
M those in (a). Generally this strategy is adopted by nsk—aver‘se investors. This strate:gy

twayg Bives a pay-off. The pay -off is the difference _bf.etween higher and the Iow.er strike
| Dr?ces_ Ina box spread strategy the profit or loss made isindependent of the stock price. Thus
| ()ls *Wfategy is called a neutral option strategy.
| YRatio s re .
ThES:ar::: extension of bullish or bearish spreads. Inaratio spread a bullish or bearish

Mraay . .
“adis taken with an additional position.

1 Wi
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amber of options written divide )
n

1 by 2. his means that 2 OPtigy,.

o, Innumerable ratjo St I
—."]!J.

(ined as the |
prvf.unlv(l as

o, Hent
o 1by? spread,

Conventionally, the ratio is de
number of options bought. It is p,uncmllv "." ' the
sold against 1 option bought. Thereis no !uml to ot
are possible. But for our discussion we will make us

- ‘,[)l'(?ild.
Ratio spreads may be ratio call sprmd or re

ytio put ¢

- 1 » « y , J ‘

ad involves buying one calloption and selling two cafl ot |
number of ITM €

all, i.e., ratio of 2:1). S0 th ol
o lon, |
tions in two options.

put option and selling two loy, b

Ratio call spread: Ratio call spre
at a higher strike price (selling double the

option is actually financed by the short posi '
her strike price

Ratio put spread: This involves buying the hig T
strike price put options. This results in a net short position.
Settlement of Option Contracts |
any of the following three methods;

All option contracts must come to a close by . |
1. By exercising: To make profit, the holder of an option may decide to .GXG.fClSe the righy, |
When the buyer or holder exercises the right, the seller honours the obligation. The selle
(writer) has to deliver the asset under a call or pay the price for the asset under a put, Inthe §
case of American option, the exercise can be done at any time. Butin the case of Europey |
option exercise can be done only on maturity or expiry.

If it is not profitable to exercise the option, the buyeror holderofthe |
worthless. He will lose the premiun |

2. Byletting option expire:
option would not exercise the option. He would let it expire
paid. It is not necessary that the holder exercises the option whenever profitable opportunities

arise during the life of an option. Even if the option is profitable, the holder may not exercise the
right in the hope of making larger gains later. If the option holder does not exercise the optionthe |
obligations of the writer would cease automatically upon maturity of the contract.

3. By offsetting: Option contracts can be settled by offsetting. Offsetting is a method of
reversing the original contract to exit the trade. If a person bought a call ( option buyer of
holder), he has to sell or write the call with the same strike price and maturity. Now the
contract is settled. Similarly, if a person sold a call, he has to buy a call with the same strik¢
price and maturity. Now the contract is settled. An obligation to sell/buy stands nullified by?
right to buy/sell. Similarly, if someone bought a put, he has to sell a put with the same strike
price a'nd maturity. If anyone has sold a put, he has to buy a put with the same strike pricea"
maturity. Any option contracts that are not offset are deemed to be open.

Most options are not exercised, but are closed b i '

) y holders b i buyiné
new contracts. This is offsetting. v selling and writers by
Exotic Options (Non-generic Options)

A numbg—:-r. of options have been emerged in recent years. Sometimes it is diffiCult &
understand thc?lr strgctures. Many of these options have unusu;‘zll feat That is why ¢
are called exotic options. Some of the exotic options may be briefl\?le:arlzfr.wedaas below:
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psian options :In the Asjan options

o he Py
i 3 i 2 . 4 L y }‘ ',, 'e \ "
b sen the strike price and the AVerape ml”‘V{ ' I at e DIty will be equal to the difference
pet . These are also called gye ¢ ofth

, e under) Aeeg ' s [ifo
o rage option, /ing, asset over the life of the
garrier Options : A barricr option will ke
‘ els reached. The pay-off 4 harri,
|

e
" reaches a certain level during th
| '

! ACtivirted / deactivated when a pre-specified
option depens,

Cspecifiod no
ion af[cr deciding fm the strike price, 'mu;:t”l:‘f?rm
§ ostockprice reaches that level the Option holder will lgse 4| the claims conferred on him b

g coption anq at that moment the Option will go dead. Tiri", typ;* ();:{;r;‘:i‘o- :ieon' is callez
ock-out option. Thf-‘ Opposite of this s the knock-in optiu’n Hr-'rrn th;- ) 'tios corr;e; to life
{ lyif the asset price reaches or touches tho barrier level, et
{; sinary 99“0“5 + A binary option provides 5 fixed pay-off, depending on the fulfillment
{ i some condition. For example, a binary put option may pay’off £ 100 if the stock price at
naturity is less than the exercise price, These are also known as digital options.,
, lookback Options : The pay-off of 3 lookback --
minimum price of the underlying asset during the
ifalookback call option may be equal to the maxi

minus the exercise price.

on whether the underlying assets’s
rod of time. This means that in 3 barrier
priceis identified and is agreed as barrier. If

of

option depends on the maximum or
life of the option. For example, the payoff
mum stock price during the life of the option

5. Shout Options : This is an exotic option of European option nature under which the
rolder can shout to the writer at one time during its life. At the end of the life of the option the
option holder receives either the usual pay off from an European option or the intrinsic value
itthe time of shout, whichever is greater.

Options on Stock Indices (Stock Index Options)

"§iock index options are among the most widespread option markets in the world. Options
" stock indices represent a very successful innovation in the history of organised options

“thanges in the world.

Meaning of Options on Stock Indices

An option |, call or put, on a stock index is very much like ar.m option or.m stocl.< and gives.its
"older (buyer) to right to buy or sell the index (indices) at a given exercise prucg. Thus, like
" other option contracts, the buyer has the right and' the seller has t‘he obligation. The
%uver of an index call option gets the right to participate in the mar'ket galnls over and .ab.ove
N Pre-determined exercise price until the expiration. Sl,JCh. an Opt'OfW SFOV'dES aﬂ_Uﬂhbm'ted
brofi Potential since the index can raise to any level. Similarly, an index put option buyer
i

s 10 pain should the index level fall below the pre-determined exercise price. Depending

0 n buyers can make substantial
I the extent of downturn in the index level, the put optio y

on may be in -the- money, at- the- money or

(i ; opti ,
¥© options on stock, the stock index oP hip between the index value and the exercise

ot ions
o the. money, depending on the relat




ater than the eXereign
ey

]

. h@
of the index Is greater thy, th

Vs pre
dox value | _ ,
In erclse price. On the congy,,

: ) W he
price. A call index option is in the money, it Mer than the ¢
, . i S L& § ’ s « .
and out of the money if the index value is urrent) value of the index is lower than 4
put option is in- the- money when the spot (curre o
b : . 10 V‘|
exercise price. It is out -of -the- money when tl

exercise price. i« higher than the exercise prj i
In the case of a call option, if the underlying index s h'”hr(dr-rm(t is why he exefdsc:s, o
- ) M, [ w
buyer may exercise the option. This is profitable for the li;uchxercise value of the indey t|h,
option. The break even point for the call buyer is cﬂU“|| to 1: catrlament over the brésk eF;Us |
i i Ire 5 ss of index value at = ) e §
the premium paid. The greater the excess at settlement is lower thay ‘

point, higher the profit to him. In case the value of index ' 180, eenaing i
break-even point, the buyer loses a part or whole of the premium paid, Cther

A ; example. Su
the index value is above or below the exercise price. Let .us tz;k‘i;;o P 5p( rermi:jpose an
investor purchases a call option contract with an exercise price 0 P m). The

break even point for him would be * 1525. At the settlement, if the index Yalue.in greate:rthan
* 1525, the buyer makes a profit. If the index is below " 1520, he loses his entire Premium, i
the index value is between * 1520 and * 1525, he loses part of this premium. Thus, if the indey
value is "1522, he loses * 5-2 = * 3. The maximum loss that the buyer can incur is equal to the

premium paid.

In the same manner, we may determine the profit or loss profit of a put option buyer, A
put option buyer gets gain if, at the time of exercise, the index is lower than his break even
point. The break even point in turn is equal to the exercise price less the premium paid.
Further, the buyer loses part or all his premium if the index value is greater than the break
even point. When the index value is greater than the exercise price, then the option is out-
of- the- money and is not profitable to exercise. In such a case, the buyer loses the entire

premium.
Features of Options on Stock Indices
~ The main features of options on stock indices are as follows :

. ,,1.//_,.fln case of stock index option, the underlying is stock indices like Sensex, S&P CNX Nifty etc

o

2. The stock index options are very useful especially for the institutional investO@ This is
because they allow the investor to make investment decision on a specific indust:
sector or on the market as a whole, rather thanon a particular company or companies:

3/ Stock index options are cash settled. This is because the underlying asset, i.e., stock
indices are not physical. Hence they cannot be delivered ’

4. There is uncertainty with option on stock indi '
P . ices of t : aid of
s peceluEd: he amount that will be p

the index value.




ffer ption
4 rhere are three fundamentgy differen on Stock Indices
Ces bet
tion. They are ween the stock option and stock index
opH

{ gex option has' 6 nc-’t'fy his broker before 3 Certain cut-off time established by the broker.
{ rurther, the cl.osmg Price on the expiration day determines the actual amount of money due
§ orto be received on account of the option exercise. Since the cut - off time may fall well
wefore determination of the closing Price, it is not sure whether the exercised option will be
{ n-the- money at that time. Thus the holder of a stock index option who exercises it before
the closing index value for that day is known, runs the risk that the value of the index may

sbsequently change adversely. On the other hand, in case of stock option, there is no such
uncertainty.

43 Incase of stock options there are exposures to both systematic and unsystematic risks.
4 Onthe contrary, stock index options have a very little unsystematic risks.

| Hedging with Stock Index Option

. Put options on stock index can be used to protect a diversified portfolio against an
4 ticipated market downfall The underlying principle is the same: if the market declines, the
{ fedger hopes to make enough gains on options to offset the losses on his portfolio. To hedge
-‘ fis portfolio, the investor has to decide as to which and how many of options contracts to buy,
. bcause a number of options are available on anindex. In princ.iple', any of the options can be
4 sed for the purpose and the key to the number of contracts lies in delta.

f an option has delta equal to 0.40, for example,

The d tion is negative. |
elta for a put op the stock index by 1, the value of the put

}' :Rhas the implication that for the point decline in
"eases by about 40 paise. g
‘ w:
Number of option contracts to buy may be calculated belo

WXPOI‘thHO betax
Contract value

he total value for which protection is needed. This total

tfolio with its beta and dividing this product by

Delta

Thus in the first step, we find t

1 " can be found by multiplying the PO?
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f contracts to b
he number 0 Uy ¢
, ionored here. T _ . ng |
delta. The negative sign of delta may be 1gno xercise price multiplied by Marke, |0~
Tv .

to e
the value of one contract (equal

known by dividing
or multiplier to convert into monetary).
Option Markets in Indiaon NSEand BSE L asE. The NSE introduced trading s
. i ot o 8 Ean . ] 3
In India option trading is being done on NS lso became the first exchange to Iau,,(;

Options (also based on Nifty) on June 4, 2001 NSE @ »001. Futures on individual secyp |
trading in options on individual securities from July 2, ' Mgy

¢ individual s iti
were introduced on November 9, 2001. Futures and Options on indi Curities o,

available on 216 securities stipulated by SEBI. . .
Options can be allowed in the second phase. BSE is also planning to introduce otp,

features that are available in DTSS on BOLT terminals lathThose brokers Wh-ﬁ \r:/émt to tradeis
derivatives on BOLT would not have to bear any extra charges, but they V\{l aYe to Comply
with requirements related to taking derivative membership, separate registration of clignt

™

for derivatives and other regulatory requirements.

Equity Optionsin India

! There are two popular types of equity options : Index options and options on individul §
securities. Both the types of equity options have been introduced in India recently by the }
National Stock Exchange and the Bombay Stock Exchange. |

Index Options : Index options are options on stock market indices. Currently the most popul

index options in India is the option on the S & P CNX Nifty which is traded on the Nationd

Stock Exchange. The salient features of this option contract are as followsy |

1. The contractsize is 200 times (or multiples thereof) the underlying index, viz., S & P CNX
Nifty.

2. ItisaEuropean style option contract.

3. The options contracts have a maximum of three month trading cycle-the near month

(one), the next month (two), and the far month (three). A new contract will be introductd |
on the next trading day, following the expiry of near month contract

4.  The expiry day is the last Thursday of the expi :
PIry months : : if the
last Thursday is a trading holiday, orthe previous trading day

5. The con.tra'ct is cash settled. The settlement is done 3 day after th v d based Of
the expiration price as may be decideq by the exchange e expiry day
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a1 contracts on indivi . ’
Opmn‘(r‘j)‘r:;p"y of the nZ;C:ur::I eeurties will hae maximum of three-month trading
e O' f for both call and gl C(_)ntri’Ct, 4 New contract shall be introduced at new
gt(ik(f prices C put OpllOnS, on the trading day fOlIowing the eXpify ofthe
near month contract,

option contracts on individual Securities s
month. If the last Thursday s 3 trading hol;
day. '

, Thevalue of an option contract on individual
the time of introd

hall expire on the last Thursday of the expiry
day, the contract shall expire on the previous

. securities shall not be less than ¥ 200,000 at
uction. The permitted lot sjze for the option contracts on individual

securities shall be in multiples of 100 and fractions, if any, shall be rounded off to the next
higher multiple of 100.

5 The price steps in respect of all option contracts admitt

ed to dealings in the Exchange
shallbe 0.05

Base price of the options contracts on introduction of new contracts shall be the theoretical
value of the options contract arrived at using the Black-Scholes model. The base price of

the contracts on subsequent trading days will be the daily close price of the option
contracts.

I Options on individuals securities are American style. In American style option contracts,
the exercise type is automatic on the expiration day, and the exercise type of voluntary
prior to the expiration date of the option contract. Automatic exercise means that all in-
the-money options would be exercised by NSCCCL (the clearing corporation) on the
expiration day of the contract. The buyer of such options need not give an exercise notice
In such cases. Voluntary exercise means that the buyer of an in-the-money option is
'equired to direct his broker to give exercise instructions to NSCCL.

Settlement of exercises of options on securities will be by payment in cash and not by
delivery of securities, at least initially, in accordance with SEBI guidelines. The settlement
50nT+3 day.

PRACTICAL PROBLEMS
m““fation .
. An investor writes a call option on one share of Sun Ltd. at a strike price of ?169 ata
_'_'Ernium of 26 per share. The maturity date is three months and buys a share of same in the
markey at¥158 per share. Prepare payoff table andgraph.
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